Operations

1. For graduation at Wharton High School, 3 seating sections were set up for graduating
students, their family, and friends. The section where family was to be seated had 34
rows with 40 chairs in each row. The next 2 sections had 20 rows with 15 chairs in each
row. Which expression can be used to find how many chairs there were in all? (Circle
the letter of the correct answer.)

A. (34 x 40) + (20 x 15) C. (34 x 40) + (20 x 15) + (20 x 15)
B. (34 x 40) D. (3x34) +(2x20) + 15

2. Jared works at a grocery store. Last week, Jared worked 38 hours. Jared earns $14 an
hour. This week, Jared worked 9 hours more than he did last week. How much money
did Jared earn during both weeks? (Write your answers to the problems below.)

Jared worked hours during the first week.
Jared worked hours during the second week.
Jared earned for both weeks.

#3963 Daily Warm-Ups: Math ©Teacher Created Resources, Inc.



Operations

mwAnswer Key

1. C
2. 38,47, $1,190
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